3.5/3.6 Guided Notes — Scatterplots and Trend Lines

Vocabulary
Scatter Plot: A type of j.—aph o d\sple how 2 vartablcs
relare for a data set
Trend Line: A line used +e rc..Fv‘chrﬁ' 4he behavior of g
ser of dara ) used o make predictions
Correlgt-ion A value wmeaguring ‘he s'h‘t‘.h‘g"lh of YL\G‘HQV\SH'{P
(Coefficient): |\ erween 2 vanables , denoted by 1.
v S between = | ane |
Residual: The difference batwenn oduy preaitite ocdtpur and
o Cruwa) ou-(-Pw\-
Interpolate: US'lﬂj Frend line +o Pr'q}\c‘f an owtpud within Hhe

dowmain ©F colleckd dedea

Using frend line 1o preditt an oudput ourcide ofF

Extrapolate:
o collechd dcka

The donmcin

Shoe Size vs. Height

Ex. 1 Create a Trend Line
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a) Calculate the slope of the trend line using 2 points on (or closest to) the trend line.
1= S5 = |

-
—

(e2,4) + (6%,9) S 5
M= a2 - °

Calculate the y —intercept of the trendline .

Y=mX+ b Q=67 tb

q=1Htb — b= -58
Write a slope —intercept equation for the trendline.

"j = |lx -58
d) Interpolate What shoe size would we predict a person who is 63 inches tall would have? &
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Extrapolate What shoe size would we predict a person who is 76 inches tall would have?
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Ex. 2 Interpreting Correlation Coefficients
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i What type of correlation does the data in this scatterplot represent?
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* o Circle the correlation coefficient from below that best matches the data
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